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Mr. Schlansky Pre Calculus
Unit 3 Quadratics Review Sheet

Solve the following quadratic equations for all values of x in simplest radical form or
simplest a+bi form if necessary.
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Solve the following using both the quadratlc formula and completing the - Square methods
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Solve the following polynomial equations for all values of x in simplest radical form or a+bi

form if necessary
9. x*-4x*-32=0
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Solve-thefollowing inequalities and graph on a number line C}mve/gai ‘ .
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15. The nature of the roots of -2x* + x = 6 are:
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17. For what value of k are the roots of -2x > + kx — 6 = 0 imaginary?
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18. The roots of x* +kx +7=0 are real when k is equal to:
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Find the sum and product of the roots of the following equations:
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23. One root of x* +kx+30=0 is -6'3./Find the other root.
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24. One root of x> —7x+k =0 is 9. Find the other root.
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